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QUESTION: 32

You are asked to create an XML schema and WSDL definition for a Customer Lookup
service. The service accepts a customer name and returns the corresponding
customerID. You are given the following specific instructions as to how the XML
schema should be designed:

- Two elements named "CustomerLookup" and "CustomerResponse™ are required.

- The "CustomerLookup™ element will be used to represent the request message sent to
the service. It must have a child element named "customerName" that has the type
string.

- The "CustomerResponse™ element will be used to represent the response message
sent out by the service. It must have a child element named "customerID" that has the
type integer.

Which of the following WSDL definitions correctly describes these messages?
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™A <definitions name="CustomerLookup”
targetNamespace="http: //wwnw. example. org/wadl/cust”
=mlns="http://achemas.xamlsoap.org/wadl/ "
rnlng: cust="http: //wwne, example, org/oust®
xmlna: xsd="http: / /v, w3, org/ 2001/ EMLEchema ">
“<typear
<x=sd: schema malns:x=sd="http://www,.wd, org/2001/EMLEchema"
targetNamespace="http://www. example.org/cust">
<xsd:elesment name="CustomerLookup™>
<xsc:complexType>
<xsd: sequence>
<xsd:element name="customerName" type="xsd:string"/>
</xsd: sequence>
</xsd:complexType>
</xed: element>
<x=d:element name="CustomerResponase ">
<xsd:complexType>
<xad: sequence>
“<xad:element name="customerID™ type=”xsd:integer"f}
</xad: sequence>
“4/xad:complexType>
</x=ad:element>
</xsd: schema>
=/types>
“<message name="CustomerLookup'>
<patrt name="CustomerLookup” element="cust:CustomerLookup’/>
</messagex
“message name="CustomerResponse ">
“Zpart nams="CustomerResponze” slement="cust:CustomerResponse"/>
</megsage>

</definitions>

e B. Zdefinitions name="CustomerLookup"
targetNamespace="http:///www, example, org/wadl/cust"”
xmlns="http://schemas,.xanlzoap. org/wadl/ "
molns:cust="http: / /wnee. example. orgfoust™
sanlns:xsd="http://www.wd.org/2001/IMLEchema ">
<types>

<xad:schema xmlns:xad="http://wew.wd. org/2001/XMLAchema"
targetNamespace="http://www. example. org/cust™>
<ysd:element nams="CustomerLookup™>
<xsd:complexType>
<xad: sequence>
<xad: element name="customerName” type="xsd:string"/>
</w=d: sequence>
</xad:complexType>
</xsdi element>
<x=d: element name="CustomerResponse”>
<xsd: complexType>
“<xad: sequence>
<xsd:elemant name="customerID" type="xsd:integer"/>
</x=d: sequence>
</xsd: complexType>
</xsd:element>
</x=d:schema>
</types>
“message name="CustomerlLockup”>
<part nams="input"” element="cust:CustomerLookup”/=
<part nams="output” element="cust:CustomerResponse"/=
</message>

</definitionsa>
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. <definitions name="Customerlookup™
targetNamespace="http: / /www. example, org/wadl/cust"”
mmlne="http://achemas. xaml=oap. org/wadl/ "™
wmlng: eust="http:/ Swme, example. org/oust”
solns: xsd="http: /Sew, w3, ocg/ 2001/ EMLSchema ">
<types>

<xad: schema sanlns:xsd="http:// /www.wd.org/2001/XML3chema™
targetNamespace="http:/ wew. example. org/cust"™>
<xad: element name="Customerlookup™>
<xad: complexType>
<xad: sequence>
<xad:element name="sustomerName" type="xad:string"/>
</ wad: sequence>
</ xsd: complexType>
</x=d: element>
<x=d: element name="Customerfesponge”>
<xad: complexTypes
<xad: segquence>
<xad: element namse="customerID" type="xsd:integer"/>
</ xad: sequence>
ﬁfxzd:cumpleTypeb
</xad: el ement>
</x=sd: schema>
</ types>
“message name="CustomerLookup™>
<part name="CustomerLookup” element="cust:customerlame” />
</ message>
“message name="CustomerResponse™s
Zpart name="CustomerResponse” element="cust:customerID”/ />
</megsager

</definitions>

D MNone of the shove

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

QUESTION: 33

You are working with a project team that wants to deploy the Vacation Request service
that allows employees to request information regarding the vacation days they are
entitled to. The project team has come up with a sample XML fragment that they would
like to use as the basis for the request message that the Vacation Request service will
receive, as follows:

<vac:vacationRequest xmlns:vac="https://www.example.org/vacation">
<emplD>12311K/empID>

</vac:vacationRequest>

The "vacationRequest™ element (which will be placed inside a SOAP "Body" element)
contains a child "empID" element that will provide the employee ID used by the
Vacation Request service to perform a search. Your task is to define an XML schema
for this message and to incorporate the gghema into the Vacation Request WSDL
definition by embedding the schema content and mapping the XML Schema elements



to the appropriate WSDL elements. Which of the following correctly accomplishes
this?

T A <definitions name="VacationRegquest"
targetNamespacse="http: / /e, exanple. org/wsdl/vacation”
solns: vac="http: //wwne. example. org/vacation”
milns="http: //schemas. xmlsoap. org/wadl/ "

#ulns: xsd="http:/ /v, w3 . 0eg/2001/ZMLSchema ™>
<types>
<xzd: schems malns:xsd="http://vww.wd.org/2001/XML3chena™
targetNamespace="http://www. example. org/vacation">
<yw=ad: element nama="vacatinnkaquest”}
<xad: complexType>
<xad: segquence>
<xsd: element name="empID" typa="xad:3tring"f}
</ xsd: sequence>
</n=d: complexType>
</xad:element>
</xsd: schema>
</types>
“meszage name="RequestVacatlionMeszage">
Zpart namse="RegquestVacation” element="vac:vacationBeguest"/>

</mesgage>
</definitiona>
T B <definitions name="VacationReguest"
targetNamespacse="http: / /www, example. org/wadl/vacation”
xolnz: vac="http:/ /v, example. org/vacation®
wnlns="http: //schemas.xamlsoap. org/wasdl/ "
wnlng: xsd="http://wwmr. wd. 0pg/2001/ XML 3chema ™>
<typess
<xsd: schema mlna:xsd="http:/ www.wl.org/2001/XMLAchema™
targetiamespace="http://www. example. org/vacation">
<x=d:complexType name="vacationReguest™>
<xad: sequence>
<xsd:element name="smpTD" type="Txsd:string"/>
</x=d: sequence>
</xsd:complexType>
</x5d: schema>
=/types>
“message name="RequestVacatlionMessage">
<part name="ReguestVacation” element="wvac:vacationBeguest"/>

</mesgage>

</definitiona>
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T L., =definitions name="VacationRequest"”
targetNamespace="hetp: / /v, example. org/wadl/vacation™
dulna: vac="http: //www. example, org/vacation™
smlns="http://schemas.xmlsoap. org/wsdl/"
molns: xsd="http: /Svww . w3, ocg/ 2001/ XML Schema "=
<types=

<xzd: achema xmlns:xsd="http://www, w3, org/ 2001/ ¥ML3chema”
targetNamespace="http: //www. example. org/vacation™>
“xad:element name="vacationReguest"™>
<xzd: complexType>
<xad:sequence>
wxad: element name="empID" type="xad:string"/>
</xsd: sequence>
</x=d:complexType>
</x=d: element>
</xad: schema>
=/ typear
“mezzage name="RequestVacationMeazage">
“<part name="ReguestVacation” type="vac:vacationReguest”/>
“/messagex

“fdefinitions>

0. MNone of the above,

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

QUESTION: 34

You have developed the following WSDL definition for the Article Notification service
that needs to be able to notify employees when a new article has been posted to the
company's internal intranet Web site:
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<definitions name="ArticleNotification"
targetMamespace="http: /v, example. org/wadl/ employes”
mmlns: tns="http: /Swww, example, org/wadl/ employes”
amlne: emp="http: //www. example. org/enmployes™
smlns="http://schemas.xmlsoap. org/wasdl/ "
xmlns=: x=d="http: //www. w3, org/2001/¥ML3chema™
xmln::saap="http:f!achamas.xmlanap.urgfwadlfsuupf“}
“Lypes>
<xad: schema
targetilamespase="http: //wwn, example. org/wadl/enplaoyee ™
<xsd: import namespace="http:// waw. example. org/ employee”
schemalocation="articleNotification.xsd" >
</x=sd: schema>
</types>
“message name="ArticleNotificationMessage">
“part name="ArticleNotification™
element="emp:articleNotification"/>
{fmassageb
<portTypes name="ArticleNotificationTInterfaca™s
<ppecation name="ArticleNotification™»
<input message="tns:ArticleNotificationMessage"/>
</operation>
</portType>
<hinding name="ArticleNotificationBinding™
type="thns:ArticleNotificaticnInterface”>
<gpap:binding style="document”
transport="http://=schemas.xmlsoap. org/ soap/http™ />
<operation name="ArticleNotification"s
<gpap:operation
soaphiction="http:/ /wwe. example. org/ArticlelNotification™/ >
4input>
<zoap:body use="literal™/>
ﬂfinputb
</operation>
<f/binding>

</definitions>

The service has an "ArticleNotification” operation that receives a request message
containing the article information. The receipt of this request message triggers the
issuance of a notification to employees. This operation does not issue a response
message. Your next task is to define the concrete description for this WSDL definition.
You have already completed the "binding™ element and you now need to add the
"service" element. Which of the following represents the correct "service" element for
this WSDL definition?
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A <aervice name="aArticleNotificationService™=
<port binding="tns:ArticleNotificationBinding"
name="ArticleNotificationFort">
<soap:address location="http://www. example. org/emps"/>
</port>
</aervice>

™ B, <asesrvice name="ArticleNotificationSerwvice™>
<port binding="tns:ArticleNeotifizationTnterface”
name="ArticleNotificationPort">
<soap:address location="http://ww. example. org/emps”/>
</port>
<fgervices

 C. <service name="ArticleNotificationdervice"s
<port bhinding="tns:ArticleNotification
name="ArticleNotificationPort">
<zoap: address location="http:/ www. example. org/emps"/>
{fpnrt}

</aervice>

P

= 0. MNone of the above

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

QUESTION: 35

You are building an HR service with an "UpdateExemptions" operation that allows
employees to update the number of exemptions claimed on their paychecks. The
operation is only able to receive a message containing the employee ID and the number
of exemptions. The operation does not reply with a response message.

A partial WSDL definition has been created so far, as follows:
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<definitions name="HR"

targetNamespacs="http://vwww, example. org/wadl/payroll"”
xmlns: tns="http: //www. example. org/wadl/payroll”
ymlns: pay="http://www.example. org/payroll”
xmlns="http://achemas.xmlsocap.ocg/wsdl/"
smlns: xsd="htetp: /Swwner. wd. org/2001/XMLAchema "™
xmlns: soap="http: //schemas. xmlsoap. org/wadl/soap/ ">
<types>

<xad: schema targetNamespace="http:/ www. example. org/wadl/ paycoll”=

<xgd:import namespace="http:/ www,. example. org/payroll”
schemaliocation="payroll.xsd"/>

</xad: schema>
</ types>
<meszage name="UpdateBxemptionsMez=zage™>

<part name="updateExemptions" element="pay:updateBExemptions"/>
</message>
<portType name="UpdateExemptionsInterface”>

<pperation name="UpdateExemptions™>

<input message="tns:UpdateExenptionsMessage™/>

</operatiaon>

</poetType>

</definitionss

You now need to start on the concrete description by adding an appropriate binding
element. Which of the following is correct?

oA “<binding name="UpdateBxenmptionsBinding”
type="tno i UpdateBxemptionalInterface ">
<spapibinding style="doocument™
transport="http: //=schenas. anlscap. org/ moap/ htep />

<opes ation name= "UpdateBxemp £l one ">

<zoap:operation
soaphctior="http: //wm. exanple. org/UpdateExemptions"/>
<input>
<zpap:body use="literal™/=>
</ input>
</operation»
</hinding>

© B. <binding name="UpdateExemptionsEinding”
type="tn= UpdateExemptionsinterface”™>
<moap:binding style="documesnt"
transport="http:// schemas.ml soap.orqg/ soap/htep”/>
<operation name="UpdateExemptiona”>
<soap:operation
soapActior="http: /[ www, exanple. org/ UpdateExempticons "™/ >
<ilnput>
<zoap:body use="literal"/>
</ input>
<output>
<goap:ibody use="literal"/>
</ output>
</operation>
</binding>
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C €. <binding name="UpdetceExemptionsBinding"
type="tna: UpdateExemptionalnterface ™=
<scap ;.]:lin.dinl:] style="documsmt"
transports i Lprs f { schemas. x.‘l.l:l.]_J_iﬂf.l - Org i 3uu].r_f lJ.LL,I_-"/}
<pperetieon name="UpdateBxemptionaInterfacse™>
<@oapioper ation
aoaphstior="http: [ Jwwne, exanple, org/ UpdateBExempticna />
€1 mpats
<goap:body use="literal®/>
</ input>
<loperations
</binding>

~ 0. MNone ofthe shove

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

QUESTION: 36
You have created an XML schema for a Purchase Order service. The schema, named

"po.xsd", is as follows:

<x3d: schema »xmlnsg:xsd="http:/ /v, w3 . oeg/ 2001/ XML Schema "
targetiNamespace="http: /v, example. org/ po™=
<xzd: element name="purchasedrder ™=
<xgd:complexTyps>
<xad: sequence>
<xad; element neme="nweher™ type="xsd:string"/>
<xsd: element name="date" type="xsd:date"/>
<xmd:slement name="amount" type="xad:decimal"/>
<xsd:element neme="description"” type="xasd:string"/>
</xsd: sequence>
=/xad: complexType>
</xad: element>
</x=sd: schema>

Because you believe this schema will need to also be used in several different services,
you decide to separate it from the WSDL definition by placing it into its own XML
Schema definition. As a result, you now need to import the XML schema into the
WSDL document. Which of the following code fragments shows a valid way to import
the schema shown above into a WSDL "types™ element?
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A <types>
<x=zd: achema smlns:xad="http://www.wl.org/2001/XMLAchema™
targetNamespace="http://www. example. org/wadl/po">
<x=d:import namespace="http://www.example. ocg/po”
schemalocation="po.xsd"/>
</xad: schema>
</ types=

© B. “types>
<xsd:schema xmlns:xsd="http://www.wl.org/2001/XML3chema’
targetNamespace="http:/ /www. example.org/po™>
<xsd:import namespace="http://wew. example. org/po™
schemaLocation="po.xsd"/ >
</xad: schema>
</ types>

T C. <types>
<x3d: schema xmlns:xsd="http:/ www.wl . org/ 2001/ XML3chema "
targetNamespace="http: ./  www. example. org/wsdl/po">
<xad:import namespace="http://vwww, example. org/wadl/po™
schemalocation="po.xsd"/ >
</ xad: achema>
«</types>

cD MNone of the above

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

QUESTION: 37

You are working on a new Time service that will be able to return the current time,
down to six microseconds. You have begun by creating a schema and the beginnings of
a WSDL definition, as follows:
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<definitions name="Tims"
targetlameapace="http: //wmi. example. org/wadl/ time "
amln=: tns="http: / v, example. org/wadl/time"
mnlns="http://=schemas.xml=soap. ocg/wadl/ "
amlns: time="http:/ /www. exanple. org/time "
xmlns: xsd="http: //www.w3. org/2001/XML3chema"
smlns: soap="http://achemas.xmlsoap. org/wadl/=scap/ ">
<types>
<x8d: schema targetNamespace="http:/ vant. example. org">
<xsd:import namespace="http://wwe. example. org/ time”
schemalocation="Time.xsd "/ >
<fxzad: schemar
</ types>
<message name="TimeRegquestMessage >
<part name="RegquestParameter”
element="time: TimeReguest"/>
</message>
<message name="TimeRespon=eMessage™>
<part name="ResponseParamster”
element="tine: TimeResponse"/>
</message>

=/definitions>

Your next task is to define the "portType" and "binding" elements. Which of the
following fragments contain the correct "portType" and "binding™ elements for this
WSDL definition?

75



A <portType neme="TimelLoockupInterface™>
<operation neme="TimeLookup™>
<input message="tns:TimeReguestMassage"/>
<gutput message="tns:TimeResponseMessage"/>
</operation>
</portType>
<binding name="TimeLookupBinding"” type="tns:TimelLookupInterface">
<soap:binding style="document"
transport="http://schemas.xmlsoap. ory/soap/htep"/>
<gperation name="TimeLookup">
<spap:operation scaphction="http://www,. example. org/Timelockup"/>
<input>
<zoap: body use="litaral"/>
</ input>
<output>
<soap:body use="literal"/>
</ output>
</operation>
</binding>

T B, <portType name="TimeLookupInterface™s
<gperation name="TimeLookup'>
<input>
<soap:body use="literal"/>
</input>
<output>
<zoap:body use="literal®/ />
</ outputs
</operation>
<IpnrtType>
<binding name="TimeLookupBinding® type="tna:TimeLookupInterface">
<smoap:binding style="document"
transport="http://schemas.xml=soap. org/scap/http"/>
<pperation name="TimeLookup'">
<spap:operation scapAction="http:// www.example.org/TimeLookup™/ =
<input message="tns:TimeReguestMessage™/ >
<output message="tns:TimeResponseMessage”/>
</operation>
</binding>

© . <portType name="TimeLookupInterface” type="tns:TimeLookupBinding">
“gperation name="TimeLookup'>
“<input message="tns: TimeRegquestMessage />
<gutput message="tns:TimeResponzeMessage™/>
</operation>
</portType>
<binding name="TimeLookupBinding ">
<soap:binding style="document"
transport="http://schemas.xmlscap. org/soap/http"/>
<operation nams="TimeLookup'">
<soap:operation soaphAction="http://www.example.org/TimeLookup”/>
<input>
<soap:body use="literal"/>
=/input>
<putput=>
<soap: body usse="literal"/>
</ output>
</operation>
</binding>

© D, None of the above,

A. Option A
B. Option B
C. Option C
D. Option D
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Answer: A

QUESTION: 38

The technical architecture department contacts you to tell you that all existing WSDL
definitions need to be modified to add an additional concrete description in order to
bind the service to a new version of SOAP.

You begin with the WSDL definition for the Notification service, as shown here:

<definitions name="Notification"
targetﬂamaspace="http:ffwww.Ex&mple.urgfmﬂdlfnntify"
mamlns: tns="http: /fwww. exanple. org/wadl/notify"
amlns: not="http: //www.example. ocg/notify"
mlns="http://schenas.xmlsoap. org/wadl/"
smlns: xsd="http: /Swww.w3. org/2001/XML3chema "
xmlns=: soap="http://schemas.xmlsoap. org/wsdl/soap/ ">
<types>
=x3ad: schema
targetMamespace="http://www. example. orgfwasdl/ notify ">
“<xad:import namespace="http: /  wwnr, example, org/notify™
schemalocation="notify.xad"/ =
</ xad: schema®
</types=
<message name="NotificationMessage™>
<part name="Notification" element="not:notification"/>
{fmﬂasagab
<portType name="NotificationInterface™>
<operation name="Notification™>
<input message="tns:NotificationMessage™/>
</operation=
“</portTypes
<hbinding name="NotificationBainding"
type="tns:NotificationInterface™>
<ggap:binding style="document"™
transport="http://schemas.xmlsoap.org/scap/http"/>
<pperetion name="Notification">
<moap:operation
soapAction="http://vwww. example.org/Notification"/ >
<input>
<soap:body use="literal"/>
</input>
</operation>
</binding>
<gzgrvice name="NotificationService:=
<port binding="tns:NotificestionBinding"
name="NotificationPort">
<soap:address
location="http:/// www. example. org/notification"/>
</poct>
</ service>

</definitions>
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Given the fact that this WSDL definition has only one "operation™ element, which new
elements will need to be added in order to add the concrete description described
above?

A. a"portType" element and a "binding" element

B. a "portType" element, a "binding" element and a "service" element
C. a"portType" element only

D. None of the above.

Answer: D

QUESTION: 39

You are asked to create an XML schema for an Address Formatting service that needs
to be able to accept a mailing address and then return the same address rearranged in a
different format defined by the postal service. You are given the following specific
instructions as to how the XML schema should be designed:

- The XML schema requires two elements named "AddressLookup” and
"AddressResponse".

- The "AddressLookup™ element must contain child elements named "addressl”,
"address21"

"city". "stateOrRegion", "postalCode™ "country"”, in that order. Each of these elements
must have the type string.

- The "AddressResponse™” has the same children as the "AddressLookup” message,
plus it contains an "addressValid" element as its last child. This element is added to
indicate whether a valid address was found, and therefore this element must be of
typeBoolean.

Which of the following XML schemas fulfills the requirements while also following
the instructions?
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A <xsd:schema salns:xad="http://www. w3, org/ 2001/ IMLSchena ™
targetNamespace="http://www. exanple. org/addc/ "=
=xad:element name="AddressLookup™>

<xad:complexType>
<xad: saquence>

<x=2d:element
<xad: element
=x=sd:element
<usd: element
<xsd: element
<x=d: element

</ x=d: sequences
</ xed: complexType>

</xad: element>

name="addressl™ type="xad:string"/>
name="addressZ" type="usd:string"/>
name="eity” type="x=d:string"/>
name="stateOrRegion®” type="xsd:string"/>
name="postalCode” type="wxsd:string"/=
name="country" typs="xsd:string"/>

«<xad:element name="AddressResponae™>

<yad:complexTypa>
<yxad: ssgquence>
<xsd: element name="AddressLookup”/>
<x=d:element name="addresaValid" type="xad:boolean"/>
</xad: sequence>
</x=d: complexType>

“</xad: element>

</xad: schemas

T B, <xsd:schema xmlns:xsd="http://www.w3.ocg/2001/IMLESchena”
targetNamespace="http://wwnw, exanple. org/addc/ ">
<xad:element name="AddressLookup">

<xad:complexType>
<xsd: ssguence>

</xad:ssquence>
</x=d: complexType>
</xad: element>

<xad:
<xsd:
“xad:
<xad:
<xad:

element
element
glement
element
element

“<xad: element

<xad:

slement

name=
name=
name=
name=
hame=

name=""

<xad: element name="AddressLookup"/>

addressl"” type="x=ad:string"/>
addressZ"™ type="xsd:string"/>
city" type="xad:string"/>
statedrRegion”™ type="xad:string"/>
postalcode” type="xad:string"/ />
country" type="xsd:string"/>

name="AddressResponas ">

<x=d: complexType>
<xad: sequence>
<ymd: element name="AddressResponse™/>
</x=d: sequence>
<fxad: complexType>
</xad: element>
<xs3d:element name="
</ xsd: schema>

addressValid"” type="xad:boolean"/>
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2 “x=d: schema xmlns:xad="http://vwwmw. w3 . org/2001/XMLEchema ™
targetNamespace="http: //www, example. org/addc/ ">
<xsd: element name="AddressLookup™s=

<xad:complexType>

<xad: sequence>

<tmel:
<xa=cl:
<xs=c:
<xsd;
<xsd:
<xsd:

el emant
element
element
element
element
element

name="addressl"™ type="

name="address2"™ type="xad:string"/>
name="city" type="xsd:string"/>
name="stateOrReglion” type="xsd!string"/>
name="postalCode” type="x=ad:string"/>
name="country" type="xsd:string"/>

xsd: string"/>

</x=d: sequences
</%xsd:complexType>
</ xad: element>
<xad: element name="AddressResponse”>

<xzd:complexType>

<ysd: sequence>

<xad:
<xm=d:
<xs=d:
<xsel:
<xusd:
<xsd:
<x=d:

elameant
element
element
el ement
element
element
element

name="addressl" types="xsd:string"/>
name="address2" type="xad:string"/>
name="city"™ type="xsd!string"/>
name="stateOrRegion” type="xsd:string"/>
name="postalCode"™ type="xsd:string"/>
name="country"” type="xad:string"/>
name="addre=zaValid"” type="x=d:hoolean”/>

</x=d: sequence>
</xsd: complexType>
</fxad: element>
<fxad: achema>

™ D Noneofthe above

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

QUESTION: 40

You are working on building a new Electronic Publications service that allows users to
retrieve electronic copies of online books for display on specialized electronic reading

devices. This service needs to contain two operations:

1. An operation that retrieves an entire book. This operation needs to receive a message
based on a pre-defined "addBookRequest" element and then reply with a message based

on the "addBookAcknowledgement™ element.

2. An operation that retrieves information that describes a book. This operation needs to
receive a message based on a pre-defined "getBookInfoRequest™ element and then reply
with a message based on the "getBookInfoResponse " element. Examples of these XML

fragments based on these four elements are shown here:
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<addEBookRegquest=>
<userID>=1Z23DD</userID>
<ISEN>013555555X</I9BN>

</addBookRequest>

<addBookAcknowledgement>
<userID>123DD</userID>
<ITHBN>013555555X</TIaBN>
<atatus>0OF</status>

</ addBookAcknowledgement>

<getBookInfoRequest>
<userID>=1Z3DD</userID>
<IdBN=013555555X</I3EN>

</getBookInfoRegquest>

<getBoockInfoResponse>
<uzerID=123DD</userID>
<T8BN>013555555X</I3BN>
<title>XML Schema and WSDL Design</title>
<author>Doms, John</author>
</getBookInfoResponse>

You are now tasked with creating an XML schema that will correctly validate these
four XML fragments. Which of the following is correct?
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~ B

<xsd: schema xmlns: xsd="http:/ /v, w3. oeg/Z001/ XML Schema ">

=xad: element name="addBookRegquest”>
<x=d:complexType>
“xad: sequence>
<xsd: element name="userID" type="xad:string™/>
<xsd: element name="ISBN" type="x=d:string"/>
</x=d: sequence>
</x=d:complexType>
</xad: element>
<xmd:element name="addBookiAcknowledgement">
<xsd:complexType>
<x8d: segquence>
<xsd: element name="userID" type="xsd:string”/>
<xsd: element name="ISEN" type="xsd:string"/>
<xsd:element name="gtatus" type="xad:string"/>
</x=d: sequence>
</x=d:complexTypes
</xad:element>
<xsd:element name="getBookInfoReguest">
<xad:complexType>
<xsd: ssquencel>
<xsd:elsmant name="userID" type="xsd:string"/>
<xsd:element name="IZBN" type="Txsd:string"/>
</%ad: sequence>
</xad:complexType>
</%x3d: element>
“uad: element name="getBookInfoReaponse">
<x=d: complexTypes
“xsd: sequence®
<xgd:element name="userID" type="xad:string"/>
<xsd: element name="ISBN" type="x=zd:string"/>
<xad:element name="title" type="x=d:string"”/>
<x=d: element name="author™ type="xad:string"/>
</ %=d: sequence>
</x=d:complexType>
</xad:element>
<fxsd: schema>

<x=d: schema zmlns:xsd="http://www. w3, org/EZ001/IMLSchema ">

<xad: element name="genericRequest™>
<xad:complexType>
<xad: asgquence>
<xsd: element name="ussrID" type="Txad:string"/>
<xsd:element name="ISEN" type="x=ad:string"/>
</x=d:sequence>
=/ x=d: complexTypes
</xsd: element>
<xad: element name="addBookAcknowledgement™>
“xzd:complexTypes
<xad: sequence>
<xad: element name="userID" type="xsd:string"/>
<xsd: element name="I8EN" type="x=d:string"/>
<xad: elemeant name="statu=" type="xasd:string"/>
</x=d: segquence:>
</xad:complexType>
</xsd:element>
<xad: element name="getBookInfoResponse™>
<xad:complexType>
<x=d: sequences
<yzd: element name="userID” type="xsd:string"”/ />
<xsd: element name="ISEN" type="xsd:string"/=

<xsd: element name="title" type="xsd:string"/ />

<xad: element name="author™ type="x=sd:string"/>
</x=d: sequence>
</x=d:complexType>
</xad:element>
</%xsd: schema>
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] e <xsd: schema xmlns:xsd="http: S e w3 . Urg;’ZDEIl}' EIMLE8cheama >
<x=md:element name="genesricRegquest™>
<xsd: complexType>
<xsd: sequence>
<x=d:element name="userID"” type="w=d:string”/>
<x=zd: element name="ISEN" type="xs=d:string"/=
</xsd:sequence>
</®ad; complexType>
</xad: element>
“x=sd:element name="addBookRegquest">
<xsd:complexType>
<xsd: segquence>
<yad: element name= "ganaricRaqusat" typs="gene ricilaqusst"'_."}
</x=d: sequence>
</xad: complexType>
</%ad: el ement>
<xad: element name="addBookAcknowledgement™>
<xsd: complexType>
<x=sd: sequence>
<x=adielement name="gensricRequest"” type="genericReguest"™/>
<xsd: element name="status"” type="wsd:string"/ />
</xsd: sequences
</xad: complexType>
</ xad: element>
<xad:ealement name="getBookInfoRequest™>
<xad: complexType>
<xsd: segquence>
<yxamd: element names="genericRegquest” type="TgenericsReguest"/>
</xad: sequence>
</ xsd: complexType>
</xad: element>
<x=sd:element name="getBookInfoResponse'">
“<usd: complexTypes
<x=d: sequence>
<x=zd: element name="genericRequest" type="genericRequest"/>
<xsd: element name="title” type="x=d:string"/ >
<x=d:element names="author" type="xsd:string"/>
</x=d: sequence>
</xsd: complexType>
</xsd: element>
</xad: achema>

D Al of the above

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
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